No.1

bSvD - TJ4—)L FHEE - R - B8RER BLLET)
beth B a—F [og] pas  BAEE s BEEBRERS a— [23080724| spik
B sl e ke LSRRGS Y RBERFAPEsBI—ILE a— R [ 083100 | gEfr
At fEA V;}; #0L| E B4 PR ok E B4, G ok E B4, R Fit E B4, R Ealc:
03/28| B+ RS TI/INE a1 [sroerernnone|  10.98 |2 |EAKNEL 2 |[IF=EREE| 11.06 |3 CH BEA J|TA=5 T1.06 4R BE 2 [Ir=aEmss| 11,12
oom 5|EA KE J3|@ms AT 1+11.'230 AEEE T EEEER 1+11.'232 TEE BAX 1|5X& 1+11.'236 3EE BR | BEEYES 1+12.'3]2
8[EF B 2|REAEA 1+12_'312 = = L8
03/28| B+ R TIEAREL 2 |Ir=Ener 2+21_'333 2 eE BA 3|LE=m 22.59 |3 @ B 2|FA= 22.70 |[4|[AN B 2 |FARES 22. 13
200m +4. 1 +4.1 +4.1 +4.1
FEh KB J3|mr AT 22.78 |6|T) B= RRER 2.8 |7|TR BE 2|FAFES | 23.05 |8|KF BE 2|trI=ERFs| 23.16
03/28| B 1 R TE®E % 25K 5+02_'644 7[AH BE  2|FARES 5+04.'614 3Tk WE 2 |FARER 5+12_'o42 BN KB | EEFHE 5+12843
400 SO BA 1 |FAS 52.25 |6|@ EM || RBYEm %5%%;} TZE = 2|eBZEs | 5292 |8|% $2& ?|BEZE= | 53 2
03/28| B+ R TIEE BE=x 1 |ir=Emea| 2.01.20 |2|feR BF 2|97Rs 2:03.04 [3[ER W+ 2|ftE=m 2:03.08 |[4[/NIT =@ 1 2:04 04
500 5|RF mE 2 |BE—a 2:05.32 6|=5F =W ?2|tAe=m 2:07.33 || 7|BE A58 1 |RBZEm | 2.07.63 |8|FBMEN J2marau—rs57] 2:07.65
03/28| B+ R TIEE EZx 1 |[Ir=EmTs| 40858 |2 | B8 w8 2 |ERsk 40044 |[3[RE w2 |mesh 41493 4|2 =W 2 |LAa=-m 472061
oo 581 XK#E 1 |EEFES 4:21.72 6|4l BE 1|(XE=-85 4:25.07 [7|lREA &A 1|EBRKS 4:26.15 || 8| K/\ARHE 2|TFizERFES| 4:27. 31
03/28| B+ R T[BE AW J|BsB—m | 15.38.65 | 2[faA=H AT 15.40.42 [3[NE Bt 2|6E—m 551 14 |4|KE BT 3|&8rB—m& | 16.25 02
2000 SRHFLRA 2|BE—& 17:39.85 |[6|E &% 1|6E—& 74260 | 7|BE & 2|tA—m TR0 |S[EHF —& 1|aaEs 20:07.26
03/28|sh BT | kB | |+2.2[T1[A% &H J2|FHRAT 713 [2[&% mE J2RBR® 2151 |3|EA ZEA J2|TE—mWEFR| 22.16
03/28 ggcm[o'mm 95;!54%"] T AT|0F BA Z|8oIEs | 1660 |2/l Bn 1 |5RTk 060 |3[EE RE 1 |[ERER .67 [4]AH W 2|EE& 77,63
110mH[1. 067m/9. 14m]
5|EH BE 2 |EEs 23.52
03/28|BF EYE NEEE B 5517 | 2|BR RS 2|FRAEES | 562 |d|Em B 2|5FAe 57.80 |4|2H = ?|EB¥E= | 5848
400mL- S1dm SRERA 1 |Eras 59.33 |[6|BE #iE 2|LAmdtm | 59.91 |7|mF BE 2|FRa 1:05.25 |8[#F H®@ 2|tE—= 1:08. 64
03/28|BF R T[ERETE 2 |merh 10:07.06 | 2[JEH &Em 2|La—m 10:22.33 [3|KE BF 2|EEm 10:43.04 [4[&E &E 2|6m—m 10:48.99
3000mS610. STin G|WE W 2| KBE—5 | 11.45.38 6|2 BR 2| IFB&& | 135 15




No.2

fSw9 - J4—)LFEH - RB5 - itixR B ET)
Vel FRimBE a— 1 fog] mitas  EAERE v G BREES a— R 23080724 | EHIE
A A BET B E LB B4 MBRERERETBI74—ILF a— R 083100 FoER AT
H A A VE; A | E BEpiE 4, B Eil E BibE 4, B B E BibiE 4, B E E b4 il B
03/28| BF ARG EM B 2 mE = 2 PR 2 LF =X 2
4% 100mR 1Bl BX 1|EezEs 4414 (2(p8 B3 2|KkEE—B 44.56 || 3|Fkgmmra 1 |®Easn 4594 |4lzmxa o© 2|BxTIZ 45.97
A fEE 1 i FIR 2 wE Bl 2 ki B2 1
ES hE 1 R | 2 A REE 2 HiF 24 1
AT BE 2 R % 2 BE & 2 &F Kb 2
Sl3E BA  1|zFnzEmEs| 46.00 |6|=mA k& 2|@EAS 46.31 [ 7] =EE 1|rE=EB 46.45 [ 8|m# # 2|EES 46.92
A % ;J%ZJK Eﬁ ; EE EHB 2 %E i;rl 2
_ _ BB AR KO FEA 2 REgEL 2
03/28| B F ARG I WA BB 2 2 =E 7 BE Bl 2
4% 400mR RN 32 2|EesES | 3:26.88 (2| B 2|4&XBA 3:35.47 |[3|FB ##E 2|twmidks | 3:36.03 [4|KiE B 1|EaxEs | 3:36.45
ZH 2 2 BE R 1 BA &R 2 NE BE 2
HECE BE BTH =2 BF 1 BA B+ 1
| TR 2 EE RBE 2 TF B 2 A EEF 1
5|5@E%E 2|ErHE 3:37.10 (|6 | &R 13 2| LE=E 3:39.16 || 7|45l [BE 1|LE==A 3:41.74 |[8 (3O BEA 1|4+AEB 3:41.96
BOKH 1 =5 &9 2 A EEA 1 Nk BB 2
_ _ NN 1 dE EE 1 _ ER X 1 2]
03/28 iim RB T[ER mor 2 |[FREAR ™5 (2|52 Tm  2|FAe mi0 (3| RE B 1 |[FARES 60 |3 |@m & 1 |EREAR Tm60
=
SEABER 2 |EEm M50 || 6 |~%8  # JI|BiE® M50 || 7'Ml BE 2| tR—=ME | 1m0 || 8|aE  E J2|tR—=mE |  mb
03/28| BF s RB TEE 28 1|5Xa 2m60 T @M 2| Le-m SN NEE RS TEREL | AR BE 1 |FXs TG L
03/28[5 E-_ﬂi R THE e Z|fte=m 6m31 || 2 |feEH B3R 2 |[BREARFA Bmil |3 | =M Bk 2|WFiaBe  |6mo6 (2. 1) | 4| Al —F E—A -7 |omac2 1)
iEfI'aEﬂE +2.0 +1.0 4m74.(+1.4) NEREL
5HR BA 1 |Te—m 5m93 || 6 |FME JLtE 1 |PRE me2 || 7|HE =Z 2 |TR=m 5m80(+2.3) | 8 [INEE & 2 |BUEARZEAR | 5mB0(+.8)
+1.8 +1.7 5m77 (+1.7) 5m58 (+1. 3)
03/28 %%m R IEEEEE IEETS 288 [[2[BX #E 2| rE—m Tom85 || 3 Bl —F E—A>7 2m63 |4 |F 8 Wm 2 |ftie=m T2m29
=K +1.3 +1.0 +1.8 +2.0
5EE BA 2 |BFERba 82 || 6 |/m == 2|TAa= Tim66 || 7 |mE #E 1 |F&x& 24 |[8[m% BER 1|FX& T1m09
+1.2 +0.9 +1.5 +1.3
03/28[RZEERT | R NEGERZ R EEES Ond0 || 228 A% J2|LR—a=Wis | omel | 3|AHE IEE JI|hRE tmo2 || 4|IREE EJE  J1|ZAET® 5m66
3% [5. 000kg]
5[EF & J|LA—=WE | 5mis
03/28 %m " ,]xn% THE & Z|ti—= mdd  |2|BxR Ba 2|Am—m 9m30 || 3|EE B 2 |meEkk omi9 || 4| AFT BBl 1 |IFIZEEFAE| emi6
FaAL#% [6. 000kg ||
S[fem IEE 1|d%em 8m60 |6 | 2@ = 1|EuIiZs 8mis || 7| 2@ AW 2|BuIiZs Tmi6 || S[BHF BE 1| EARES Tm70
03/2B[FZERT | R TIAE EE J|fmRasm T6m80
A #2$% [1. 500kg]
03/28 %% o | ,]aen# T[FE EX 2| Lasits 3BmA3 (|2 B2 BA 2 |EE—m 33m98 || 3 |FRAZNT ] Bmiz |4|/NB BF 2| KBE—m 32m62
M#E¥R[1. 750kg
S|ARF =@ 1 [zFnzEmRFs| 30m/3 ([6|[EEH FFHE  2[REBEWIIS 28m20 || 7 [{RiE B 1 [TFrixERFE| 2/n/5 (|8(XHE #FEF 2|(HIIES 26m38
03/28 %%? a00e] R N ET] 7 351E37] 5108 | 2 |EE Wer 2 |FA& 50m09 || 3 | = RZGAC im0 | 4[/MB BF 2| KEE—m TImA
L) #[800g
S|AK BE 1|LAAADE| Mm2 |6|kR =+ 2|KkBE—a B9 || 7[/NE #E BBELSST| 43mi2 |8|BA B 1 |BREKS 40m54




No.3
bSvD - TJ4—)L FHEE - R - B8RER BLLET)

Bt IR a— 1 fog] mitas  EAERE v G BREES a—f 23080724 #HIE
A A BET B E LB B4 MBRERERETBI74—ILF a— R 083100 FoER AT
Bt fEH V;}; L[ EGE I{E B 4 g FRka IE B4 i) FRkES IE B4 ) FRkES E B4 iz ek
03/28| &% F R TR e 2 |REARFR 12.85 2| EH 2B || EorEs 3.08 [ 3| P ERET 2| ERATES |B4G08|3 88 L J|hEaF 13.44(+0.8)
100m +1.8 +1.8 13. 431 13.435
JIIRA EF 1 |EEKXFA 13.44 ||[6[|BHF &0 J3merzxu—rs59| 13.48 || 71|k B 3S|lmrB—ma 13.52 [[8|FE =k 1|EREXFA 13.60
+1.8 +0. 8 +1.8 +0. 8
03/28| K7 R TERFEDE 1| EESES 27.62 | 2| B0 BRI |mRr=o—ro59| 28.02 | 3| 0B anF Ji|rmonzsan=r| 28.190 | 4|Eeh B&% J2| LE—=WE | 28.55
200m +1.8 +1.8 +1.8 +1.8
5[BE =X 1|REAFRA 28.69 |(|6|BRE =EM s|>—rviqame| 28.95 ||7|f%BE 1tF JI|EAEE 28.98 8]k @D 1|EEFES 29.49
+1.8 +1.8 +1.8 +1.8
03/28| K7 R TIER =B 2|IrZEREs| 1.05.50 |2|M8 R=E JJZHET T.07.50 |3 B8 Mm 2 |EB=E= | 1.08.05 (4|8 B 3=,B—5 | 1.08 48
400m
5[E@m tE ?2|Ees 1:00.84 |[6[IBE Z® 2|ftA=m 11024 |[T[FESBESR 2 |FX& 1:10.29 |[8[HFE RE 1 |=faFhk 1:10. 41
03/28| &7 R TER ExR | |EEZES | 2.2302 |2|BA W 1 |RERBE | 2.23 70 | 3|nik D J2mrrao—rs57| 2.83.80 |4 M8 K= J25i0 T 2.34.02
800m
5|fE =iE 2 |FA5 2:3403 |6 B& 2|EAFA | 2:36.80 || RR&HAY 1|RERFA | 2:37.72 |8|EEFLEE J3[BHRT 2:38.99
03/28| & F R T[EH @7 Ji|[mer=u-ts57] 5.01.88 |2|3%= L& J2|>—F/iqam=| 5.06. 11 || 3|/ME BEE 2 |FA= 5.08 35 |4 RE KE 1 |IFNTERTH| 5.10. 21
1500m
5Ll TZE  Jl|v—rveqamz| 5:16.11 [6[EE B 1[|EFEFkRE 5:19.15 [[7[/hEMNCS  Jl|v—rvisamz| 5:23.58 [[8[/NEFF & J3[xrnzEmE+| 5:24.06
03/28| & F R TIER =X S |BrB—5 | 11.45.02 | 2| F"F —& 2|=@=h 12:00.93 |3 28 == 1 |BF_m 72:58. 69
3000m
03/28[REERF | R TIEB =B J|Te—sWEm| 17.16 || 2|58 BE JL|ta—=ME | 17.26 |3 |BE Ghs J|Iri=Emss| 18.20 |4[RAVGE 32| Lh—=kE | 18 66
100mH[0. 762m/8. 00m] +1.9 +1.9 +0.7 +1.9
5|MA BF JR|IriEEmET| 10.42 || 6|alF BE  JIFnEEmEe| 19.65 || 7|8 B J|tE—amE | 19.72 |8|KAE Zm J|tE—=WE | 19.93
+0.7 +1.9 +0. 7 +0. 7
03/28|Z&+ REE 2.7 1[EE #er  1|mrrzu—ts57| 15.93 [2[FmAHLE  2[4A5 17.72 [[3|#&EL #&F 2|4FAS 18.06 [[4[|#X A& JSIFnzEDRFH| 18.80
100mH [0. 838m/8. 50m]
5[EE =& 1 |FA= 2046 |[6|=m &M 2|tA== 2049 [[7T|}RA n= 2 |tA== 21.08
03/28| %+ REG 1R &/ 2|5AFES 1:07.52 | 2|#WL #H#F 2|4A= 1:15.48 [|3[HBAX =K 1[EHRFER 1:17.59 [[41#8HF BE 2|FAXES 1:21.60
400mH[0. 762m
03/28| %+ REG WIE =X 1 a2 BARE 1 pi13 i 1 TtE xR 2
4 100mR 1|48 e 2 |EEKREA 52.92 |2 [/MAKEF 2 |4ARES 53.61 [[3|&#ERE 1 |EEXES 53.81 |[4|d# XE 1 |%#ER 55. 62
mE =k 1 BAR BHE 2 FEAEE 2 X B 1
RAR BFH 1 BEE OS2 0 tAmg 2 i egE 1
RAVGZIE 02 ENTEZ Y AAERE I ARREE 12
5|1FK BFE R|LE—SHE 56.80 (6|&ix HE JLlzrnzEmsss| 57.12 [7|HWE k3F J2|8B& 57.97 (18|l Z=EE JI|FE—SWESR| 58.94
w|AUOMY 2 g Ex » N BE N EE EA &
B EE U2 Ed i J2 BE_fEF  J A FHE 2
03/28| &+ R HE kK& 1 E2ES] a1 BA Hm 1 IBH =® 2
4 x 400mR 1|8m B 1 |ERsk 4:33.45 | 2 |[MEMBES  2|4AE 4:34.74 |[3|2E @ 2|MFRES | 4:35.05 [4|I/RA PE  2|tR=S 5:01.03
BEA =z 1 #L #E 2 FE " 2 TR &M 2
b gk 1 AR FHEg 1 =B EHiE 2 EBAERE 2
03/28 i? R 1| XB¥EEZE= 2|FHEXRFA 1m50 2|%E tHEm 1 |FAS 1m45 3|t8lm fe¥ JI|EAHM 1m40 AER &k R|rE-SHE 1m25
=Bk
IxE = 15X\ m25  [[6][FA AR 1|mERFA m25  [[7|RABEER JSB|LEEF m20 || 8[HaIE —%& J2|T@—=Mm | Imib
03/28| %=+ R 1+8 Bt 2(L#EHitts 2m60 2% EE 2|RFEExFS| 2md0 J|=E EHB 2|FAS 2m20 4FFHSOE 1 |RFEELFSE| 2m00
BEBk




Sy - J4—)LFHER - R -

ERERER BLET)

No.4

BEth  FMEER a— 1 fog] AR~ B RS a— R 23080724
A A BET B E LB B4 MBRERERETBI74—ILF a— K 083100
W | ] s W ] s P i ok o
TF R EEEELE om0 || 2 | F  Lom ERFhR Im8b IThEIZS Ini3 2
FENE Bk +1.8 +1.4 +2.0 +1.5
58K RiE am50(+2.3) | 6 [EERE FEE Al—5 4m29 (+2. 1) 2[;zFINEERFES| 4m17 (+2. 6) 3m95
_ | 4m31 (+0. 8) Am7(+1.8) 4m04 (+1. 2) +1.2
TF R TIEE 7 EZ [ On62(+0.5) | 2|[TEE =% IR NEERES] 062 (41, 1) Ra Oma6 omi5
= ERBk 9m57 (+1. 1) 9m50 (+0. 9) +0.8 +0. 8
5a  BE omi4
_ _ +0.7 _ _
TEERT | RB TIRE K3 Y B S TRE T om77 T LS ma9 om26
BIAIE[2 T21kg] _ _ _ _ _
'F [ REE T|EF T=& Tomes || 2 | BB 2B a a1 Ome1 ] TR T om0 Bme1
1% [4. 000kg]
SRS =5 T AR EEES S ITE=m Imo7
ZF R NEEREE 20m96 |2 | T&E 1 |REAFK 29m15 S[IFNEERER|  28m32 25m02
MA24% 1. 000kg]
5K/ BEM 24m37 || 6| BE fam TERT 23m76 I = T7m59
TZELT | A5 82 =5 26m43
TeRNYyHR o— _
2 R T BZEmE 31M65 || 2 | e a i = 717 REERETE|  26m3 6 2m7
£ 1) % [600g]
5K/ BEM 20m72 ||6|%  B= TABATE | 20md0
By RB T[RAR Bm 21:36.07 || 2 |=BMR/ & EE 22:44. 44 FAe 23:27. 8 7 23.56. 02
5000mi
BEEEGE 26:35.17 || 6|B& X¥E Bi—a 26:49. 18 IRNFENTE| 28.32.62 28:58. 79
ZF R EEEET 2531 50 | 2 | & BEom 3748 48
5000mil




